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(2)
(3)
(4)

VASHI/F

HIHH
wifa

g4
=4

4.

6.

8.

it ¥ ereqer forads fomrer 1 BT AT 2
(1), ¥
My gfe
@) wd
(4) oryd

q‘a’@f‘ﬂ{%wmnﬁuﬁ%?
(1) Hwd iR srifa
(2) S 3R uH

By qF 3R yd

(4) T AR ==

g’ W= & T el wrg 1 faehed g
@) iR
OBk
() T

fr=ifera ® T 949 @ © -

“umie’ o wf famgg A
B 4 e

(2)  uH+
(3) w4+ 3T
(4)  umi+ 3mem

CamScanner


https://v3.camscanner.com/user/download

IR RS TR F Ut am: |14 'S o1 IR0 A

(1) o 9g T
(2) ST 2) =
Ry s (3) e
(4) SmaTEl (4) FU3
w0, ‘TR =R FaefR §1  Reefr v o o | 15, TR o wfu-fassd g oy
Y, - gy AT P
Ay it 2) 4+ 3T Zi
(2) St (3) T9:+39a
(3) T fefm ) T+
(4) gfewm
16. 3 Q ‘o' W< T A YIRS © :
1. ‘ePE s ueH Nt Wam A 'S v=E: | 0 (1) wAR
0 e @
(2) Trafasoo - @) g

(3) e ‘ s
1 17. mﬁwﬁwg&ﬂawmﬁrzwmw

TR SO g I § $ae T SR w9 form fag = w@m

fem T % ?
s (1) =
AT | () foemaf sivs
@) (3) @ g

13, ‘site 1 sjen A TEIGE TRE A AR | o ‘m’fﬁsﬁ%ﬁm%—

(1) TorrgE = T STTE e (1)

() < % Honsien e () @
A3 T % fareg T B @ ‘
VASHI/F 3

P.T.O.

CamScanner


https://v3.camscanner.com/user/download

19. Tafofes § 'am’ & vatgar v 7@ §
(1) s
(2) otest
@) Wy
A TN

20. ThaEd %1 W fowew gfw
(1) ai
(2 faafest
By T
@) gl
21. ‘AR’ TR aEE @ SER 2
ey w EW@

() e
(CORR -t

22, wgI=A % wel faseq 1 g
(1) <t
(2) =
(3) fommeft
4y o

23. ‘fasfa’ ¥ 3umf € -
1 fa
A R
(3) -

b

(4) fasf

24. 'NE T F W g ww &' & fag ITIH WK
FAAE?
(1) 3mEn

oy w
(3) g

(4) 4

VASHI/F

25. ‘<irmer’ ® 99 g
(1) rordtyE
2) HHURT
(3) EHifE
W T

26. ‘Qit STH =Tqed g H@ &1’ A F STIER
®IH W Rt 39 31ef i quiey d =l § 2
(1) A4 ° A ST
2 I=Fded s
(3) irgsH A @ 7L it
c)g)/a?ﬁsmwﬁa,aﬁ?ésam

27. 'SR’ VI & GEl foeim v 1 999 A
(1) 37wy

—2) w9
(@) A
(4) Uafa

28. TE QR oY Y O Y ST FACT | A1
Af@oomoges:
(1) wugm
@ =
@ T
—t A

29, fymfafad § sifaeras 991 9 © -
(1)
e g
(3) IR

(4 g

30. fy=fafaa o=@l 3-8 foad g fag @ @
WE?
(1)  war-foa S gw A
(2) 3 H IR W - T SR
By Rl TR ...
(4) <, MU T A §?

CamScanner


https://v3.camscanner.com/user/download

Read the given passage carefully and answer the
questions that follow : (Q. No. 31 to 35)

The prevention of smallpox by means of
vaccination was discovered by an English doctor
named Edward Jenner. One day he was in a
chemist’s shop, when a Country glrl came in for
advice. In the course of their conversation,
smallpox was mentioned and the girl said to h1m
“] can’t catch that disease for I've had cow-pox.”
Jenner was still a student attending a medical
school, but the girl’s remark set him thinking :
Could there be any truth in the belief that a person
who had cow-pox was safe against smallpox ?

For twenty years he patiently went on doing
experiments with a view to discovering a way of
preventing smallpox. Atlasthe was quite sure that
people who had taken cow-pox could not catch
smallpox. He therefore said that people should be
given a mild form of cow-pox by means of
vaccination. So great was his faith in his discovery
that he first vaccinated his own son.

31. Why did Edward Jenner vaccinate his own

son first ?
(1) He did so because he wanted to harm
his son.

(2) He had to-do-so because his son was
suffering from both cow-pox and
smallpox.

(3)— He did so because he had great faith in
his discovery and wanted to win the

confidence of people.
(4) He wanted to prove that his son was a
miracle.

32.  Why did the girl come to Jenner according to
the passage ?
(1) The girl came:to Jenner to look for an
assistant’s job.
Me girl came to Jenner to seek some
advice.

(3) The girl came to Jenner because she had
smallpox.

(4) The girl came to Jenner with an idea to
cure smallpox.

VASHI/F

33.  According to the given passage, the discovery
of the smallpox vaccination can be attributed
to:

(1) Disbelief in God.

The frequent complaints about rising
smallpox cases in the chemist’s shop.

(3) An observation leading to ideation,
experimentation and results.

(4) The good fortune of Edward Jenner's
son.

34. Which of the following statements is false
about Edward Jenner according to the
passage ?

(1) He was attending medical school when
he met the country girl.

(2) He worked on discovering a vaccine for
smallpox.

(3) He garv:erthe first vaccination to his own
son. -

Mward Jenner was a French doctor.

35. What should.the people be given by means
of vaccination according to the passage ?

(1) A mild form of cow-pox.
Mtrong form of cow-pox.

(3) A strong form of smallpox.

(4) A mild form of smallpox.

36. Fill in the:blanks in the following sentence
with the most suitable pair of prepositions.
/—_J

As you are overweight you should abstain

_________ food _________ a high fat
content
(1) Dby, with
(2) from, of
_(3)—Tfom, with
(4) of,in
P.T.O.
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37. Choose the correct sentence from the options
given below :

(1)  Jupiter is the largest planet.
(2) Jupiter is a largest planet.

_/(3‘)/ Jupiter is larger then any planet.
(4)  Jupiter is largest planet.

38. Choose the most suitable modal from the

options provided below for the following
sentence :

The ground is slippery, watch your step lest
you fall.

(1) would
./(2)/ should

(3) might

(4) could

39, Fill in the blank with suitable modal provided
in the options below : :

When he was a child he ______
accompany his father on his-morning walk
every Sunday.

(1) usedto
/aa/ needn’t

(3) could

(4) oughtto

40. ldentify the correct sequence in which the

following words will be found in a
dictionary : )

(1) Aerobics, Altitude, Animal, Airbus
(2) Airbus, Animal, Altitude, Aerobics
/(3) Aerobics, /}_jrbus, Altitude, Animal
(4)  Animal, Aerobics, Altitude, Airbus

VASHI/F

41.

From the following sentences choose the one
in which an adverb has been used :

(1) They were flying.
(2) Some of them were flying high.

_/43)/All of them looked beautiful.

42,

43,

44,

(4) I saw the birds.

Which of the following is the most suitable
meaning of the word “Feeble” ?

(1) someone who is selfish.
(2) someone who is weak.

(3) someone who is brave.

&) someone who has strong feelings.

Choose the correct seﬁtence from the options
given below : :

( She bought a:"paizr of sock.

1)
(2) - Pay my regard to your father.
@

3) ' All my belongings are lost.
~(} Mathematic involves lot of calculation.

Identify the adjective in the following
sentence by choosing the most appropriate
option : T S

The students of the senior school were given
the responsibility of maintaining discipline in
the school. ey

Mipline

(2) given
(3) senior

(4)  responsibility
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45. Choose the correct pair of verbs provided in
the options to complete the senterice given
below :

If he the medicine on time, he

ﬂ/ had taken, will recover

(2) had taken, would have recovered
(3) had taken, would have recover

(4) took, would recover

46. Choose the correct option from the sentences
given below :

(1)  The train will have departed before he
will reach the.station.

(2} The train will have departed before he
= reach the station.

" (3) The train will have departed before he
reaches the station.

(4) The train would have departed before
he reached the station.

47. Fill in the blank in the given sentej}ge with
the most appropriate article from the options
given below. ’

We are __ hour away from

Bangalore.
A an
‘ 2) the
3) no article (N/A)
)

4) a

~ o~ o~

48. Fill in the blank with the most suitable
option : '

He
twenty years.

in this office f(:)-r:;f;he last

is working
(2) have been working
(3) has worked
(4) has been working

VASHI/F

49. Choose the wrongly spelt word from the
words given below :

(1) Inclusion
(2) TIlusion

(3) Conclusion
_)A)/ Delusion

50. Choose the most appropriate sentence from
the following options to change the given
sentence from Passive to Active Voice :

I'am helped by my friends.
(1) My friends are helped by me.
(2) My friends help me.

3y My friend is helped by me.
(4) My friend helps me.

_rllusren
De lugron

51. fava gedt feam 2024 it fawg-ag (oftw) of :
(1) WERemRad
(T IR W
(3) e a9H WfeE
(4) WIEER X wifgs
Theme of the World Earth Day 2024 was :
(1) Restore our Earth

(2) Invest in our Planet
(3) Planet vs Plastics
(4) Protect our Species

52. ¥R TXH el Tt o el A Welfe €2

(1) o

W

(B) Eehl
(4) wagE

Syed Mustaq Ali Trophy is associated with
which sport ?

(1) Football
(2) Cricket
(3) Hockey
(4) Kabaddi

P.T.O.
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53. 'S F=ed, 43 yael’ wHEd H
] fehan T ey

“Beti Bachao, Beti Padhao” programme has
been implemented in the year :

(1) 2013
(2) 2014

@0

(4) 2012

54. WYHHH wH-vF Al (PMJDY) &8 URY i
T ot ?

The Pradhan Mantri Jan Dhan Yojna
(PMJDY) was launched in :

1) 2012
2) 2016
(3) 2018

L/(_49/2014

55. S.dh.ud. (GPS) il forga 9 R € ?

(1) e i e

(2) Tole T HEEe

(@) ToEd I e

(4) o e fawm

What is the full form of GPS ?
Global Positioning System

(2) Global Pearl Society x
(3) Global Pets System
(4) Global Posting System

56. ST &1 TEEE G 7 T?
What is the chemical formula of Water ?

AR
(2) HO
(3) NaCl
(4) O,H

VASHI/F

57.

3G, fafereems wm foag it am 43 @ geifud L4
€? ‘ '

s

58.

(2) drom
() =gd
(4) WK

Ustad Bismillah Khan is related to which
musical Instrument ?

(1) Shehnai

(2) Veena
(3) Flute
(4) Sarod

) W&R 9T "
(3) weve qUTFe
(4) SER o TTE

‘Good Governance Day’ is observed to mark
the birthday of :

(1) Atal Bihari Vajpayee

(2) Sardar Patel

(3) Sarvapalli Radhakrishnan
(4) Jawahar Lal Nehru

50. G T o ) STTUETCE Gy o

~

Sle b
2) .
(3) g
@ T

What is the official currency of United States
of America ?

(1) Dollar

() Yen

3) Tuva

(4)  Euro V7
a
9]
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60. ¥ & G A A T A gy HA W@
27

(1)
2) W (fHe)
A wEERE IR
(4) wHTE
Which is the fastest land animal in the World ?
(1) Cheetah
(2) Lion
(3) Siberian Tiger
(4) Kangaroo

61. Fmfafea ¥ @ w9 = Tyt 9 @ &2
1) fo=s

_/(za/wm

(@) s

4) uf=

Which of the following is capital of Russia ?
(1) Minsk :

(2) Moscow

(3) Madrid

(4) Paris

(4) aren-fe-Tm

Who wrote the “Discovery of India” ?
(1) Jawahar Lal Nehru

(2) Mahatma Gandhi

(3) Salman Rushdie

(4) Vasco-de-Gama

VASHI/F

63.

o ad fava AYAe a8 HF 7w S @ 2
(1) 10 FF=R
(2) 01 AT
(3) 28 A

M 14 qaH

64.

When is the World Diabetes Day celebrated
every year ?

(1) 10 November
(2) 01 November
(3) 28 October

(4) 14 November

frafafas § @ 9Rd &1 UL 9eft S A g2

M =

(2) TA-YHe are ARA
(3) Tia

AR

65.

Which of the following is National Bird of
India ?

(1) Swan

(2) Red-Crowned Crane
(3) Sparrow

(4) Peacock

HE IR % SH 37 &1 A @, el e
AW B9 Hiad g 2

1) -&eem %
(2) FPd
(3) TUHE R x

o AT

Name the organ of the human body that
produces : a fluid known as bile.

(1) Cerebellum

(2) Liver
(3) Pulmonary Artery
(4) Intestine

P.T.O.
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66. / foega = anfasrr fre fern ? 69. T 3R sfireIfR F WA W Seora TR

(1) < fefeg o Hfaum ¥ fra s § foFa T ¥ i
(2) frel TR (1) ATHT 13(2)
) dwuf Sfem (TR 190)@)
(4) e dd 2 () TR 290)
Who invented Electricity ? (4)  STTHR 14(1)(b) -

Freedom of Speech and Expression is

\) Jahan Phillipa Reis mentioned in which Article of the Indiar
' (2)  Philo Taylor Constitution ?
(3)  Benjamin Franklin (1)  Article 13(2)
(4) Graham Bell (2) Article 19(1)(a)
(3) Article 29(3)
67.| FOT orar T Ty AT (4) Article 14(1)(b)
] 70. frefafad § @ WRa &1 UL 9g) A A1 & 2
~2 . (109w 9T TR
A i @ e ()
(4) g (3) e T
Krishna Thapa is related to : ' (4) @

(1)  Cricket Which of the following is National Animal

(2) Wrestling of India ?
(3) Badminton i (1) Royal Bengal Tiger
(4) Boxing ) Blackbuck

(3) Asian Elephant

68. I W I W WL Afceh I A Wphr F (4) Red Panda
H SRR <9ifar § ?
Ly e 71. WA &t Yo Afeen TN D ot ?
TR g
2) I j/ -
0 i' o gﬂr it tfea
: 3 d
(4) TR : @)
Which veda depicts the informatiornﬁabout the 4 ¥ PICT “
most ancient vedic age culture ? Wh.o was the first Woman Governor ©!
(1) Rigveda India ? 5 :
(2) Yajurveda (;) ISacr;.)]uuGNa;c}l:.l
(3) Atharvaveda 2 n e an' . .
@ s d (3) Vijay Laxmi Pandit
RS (4) Sucheta Kriplani
. VASHI/F 10 \
-
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72. ‘Sfea fa=g wien' frge! smoTEHw €2
(1) TS= 6
(2) WER 9T WE 9o
(3) e wEf
Ay e ST el e

Whose autobiography is “India Wins

Freedom” ?

(1) Rajendra Prasad

(2) Sardar Vallabh Bhai Patel
(3) Mahatma Gandhi

(4) Maulana Abul Kalam Azad

73. ‘YR & foOEa 89 % wu § o5 e S €2

_/(4—)/@1 LS. g FAM
(2) aitst $iEw
(3) Bt SRR s
(4) ST oy

Who is known as the ‘Missile Man of India’ ?

(1) Dr. APJ. Abdul Kalam
(2) Vergese Kurien

(3) Homi Jahangir Bhabha
(4) Tessy Thomas

74. e VA & 31egFA w1 fawa foha fagia W

3N §?

(1) e 1 fagid
e T g &1 fagia
(@) fraw = fagi
(4) I 1 fagid

The subject of the study of Macro Economics

is based on which principle ?

(1) The principle of Producer

(2) The principle of National Income
(3) The principle of Investment

(4) The principle of Consumer

VASHI/F

11

75. Yfg ofefued 2024 H A4 Oiftd 3 F A
firg g Teera™ A HAgd B9 w1 oy
g?

(1) frem gfen
(2) fcerr g

__(3)—fo1 wrme
(4) Sif qeA
Which Indian Wrestler has announced
his/her retirement after being disqualified
from the Paris Olympics, 2024 ?
(1) Nisha Dahiya
(2) Reetika Hooda
(3) Vinesh Phogat
(4) Antim Panghal

76. ____ 9Rd %l 98l H9R I9UE U1
AT s
(2) W ffee feE (MOM)
(3) T =R Yeire TFAfHz (APPLE)
(4) fgoit
The first Indian Communication Satellite
was : )
(1) Aryabhatta

(2) MOM (Mars Orbiter Mission)

(3) APPLE (Ariane Passenger Payload
Experiment)
(4) Rohini

77. fava vaienw feag ) FAE W B
1) 59

Ve \
() 5 3T
4) 5 SHEh

World Environmiéii’t‘Day .is celebrated on

5th March

1)

(2) 5% June

(3) 5™ August
4) 5" January

P.T.O.
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78. frefafan 4 Q wgan &t TouE w9 €@ R 2

1) =@
(2) <fimix
(3) emaang
_K4) ®arm .
Which of the following is capital of Cuba ?
(1) Quito
(2) Lima
(3) Ottawa
(4) Havana

Frafafed § § o1 9~a F e S faar
%, fo Sreifaes & ve wifie (3r) fofan o 2
(1) et foy

(2) femaE .

(3) TSl HEE —

(4) TEYeH YT

Who among the following was the firstever
badminton player from India to clinch an
Olympic medal-?

(1) P.V. Sindhu

(2) Chirag Shetty

(3) Saina Nehwal

4)

79.

Parupalli Kashyap

AR HiaEM & 57 HH € 2
(1) e T

2y T S seRt

(3) o T= YHR

(4) TETE A AEE

Who 1is the father: of
Constitution ?

(1) Mahatma Gandhi

(2) Dr. B.R. Ambedkar

(3) Dr. Rajendra Prasad
(4) Jawahar Lal Nehru

80.

the Indian

VASHI/F 12

PRI SVRTE A Ehe b
- SN ..’_94'75_.

81. WUH 10 NI HE&AT 1 AT T 8Nl 2 ¢
What is the sum of first 10 prime numbers ?

A1) 129
(2) 100
(3) 101
(4) 127

82. 15x2%y 3R 5xy F1 HCF @ HifSQ|
Find the HCF of 15x% and 5xy. :
(1) 5y
(2) 3xy okt
(3) 3y :

4 Sxy

83. U =fa forelt gl 1 50 fawwit/ . it ifa | 3R «
et # 30 forrdt/E. @t fa @ 9@ A & A
I | 39kt e ifa = gt ?

A1) 37.5 fawi/.

() 40/,
(3) 45 fwdi/H. ¢
(4) 35 fwst/H.

A person covers a certain distance by car at
a speed of 50 km/h and comes back at a speed
of 30 km/h. What s his average speed during
his travel ?

(1) 375 km/h
(2) 40 km/h
(3) 45km/h
(4) 35km/h

84. AR3+I=81 AN BI*-¥=38 , M x+y F 7
If 3*+¥=81 and 81*~¥=38, find the value of

x+y.

e

() 5

3) 6
4) 3 \
N
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85. m W AR 7H, TGS faT 2m +1 TH AT
HWem T §, w82 (Few g e fawedi 9) ¢ |
The smallest value of m, for which 2m+1 is
nota prime number, is (from the given options
only) :
Ay 4
(2) 5
3) 6
4) 3
86. 12xyz 3R 3xy F LCM T Hifa |
Find the LCM of 12xyz and 3xy.
(1) 12xy
. 12xyz 2y
(3) 24xyz _
(4) 4xyz
87. frafafad ¥ @ «F o ot i §2
Which one among the following is the largest
fracion ? , ;¢
4o
7 7
c/gj/ 9 :
6 €
®) 1o
1 N
@ 3
17 5
88. o IR HI B
17
What is the reciprocal of I ?
/w/f—i/
5
2 = -
150
@ 77
7
@ 3
VASHI/F
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89.) Tk Q1-siehl F HEA FHF AN HAm 33 p oy

¥ afg TR Sl F T WA Hop g
3ie} & m #1 h 00 & W, 2h T 9 1 2
A two-digit number is P times the sym of its
digits.  If the nurpber formed by
interchanging the digits is h times the sum of
the digits, then the value of 2h is ;

(1) 22-4P
(2 22-2pP
3 10-P
4 11-P

90. & T Foft # srara (Y _UEAT (?) 14 Hifory |
In the given series find the missing number.
2, 6,14, 30, [2], 126

B 62
) 64
3) 66
@) 60

39 o &1 R JE-Hifee fowea ashd
48 Q2 §) =, =

783 I

91.

(2 1643 Gt

() 16 &t .

4 4B

Find the perimeter of a square whose area is
48 cm?,

(1) 8J/3 cm

(2) 1643 cm

(3) 16 cm

(4) 443 cm

ot o % ﬁnhmnm 15° 91 85° ¥
A 1T T T 41 B 2

Two angles of Triangié measure 15° and 85°.
What is the measure for the third angle ?

92.

_/(,y)/‘sm
2) 70°
3) 50°
(4) 60°

P.T.O.
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93. IfT & W& x 1 50% TEA &y & 20% F
THE @ x, y F o wfowma 82

If 50% of a number x is equal to the 20% of
another number y, then x is what percent of

y?
/g
3)
4)

40%
50%
35%
30%

6060
/ 3090 ¢ e foehed & aaR #2

W};,BCh of the following option is equal to
St Rk
(1) 6030

_A2) 12030
(3) 120%0
(4) 11030

o fe
3 2
3: f 3“7‘1/

L

frafafed § ¥ %[ 5.93x10 % s0=R g ?
Which of the following is equal to 5.93 10 ?
(1) 50.93

A2 593

(3) 95.3

(4) 0.593

95.

06, Frefofad =i § & 2 W firt g FRERE?

5
Which of the following fraction is equal to 37!

26
30
30
25
25
35
25
30

(1)
@)
(3)

AT

VASHI/F

c\\“’\ *\-)\V\ v\\ e

= fau Y 373FA H @ (?) WO H g o |

Find the missing number of the following

SCTI%
1 ’

97.

, 13,17
1 9
2) 10
@) 12
_H4 11
98. dfE 6md3—46n9=1904 §, @ T=fafea & 4
m % T I T | 2

If 6m43 —46n9 =1904, which of the following
should come in place of m ?

1) 4
(2)
®3)

/(41

99. A I =JAqH A A iy, Forad 246 A48 HeE,
8 ¥ qui fawifera &1 s
Find-the least value of A such that 6-digit
number 246A48 is divisible by 8.
m 1
(2 2
3 3

5
6
3

3
0
100. TF 10 Tt foen ot g9 F I (SHHIEH)
T 1 et 1 BT |
AT 100 dFR2
(2) 50 &wR2
3) 120 TR
(4) 200 Q2

Find the area of a square inscribed in a circle
of radius 10 cm.

(1) 100 cm?
(2) 50 cm?

() 120 cm?
(4) 200 cm?2

-00o0-
14
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